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(1) )il (BOD mg/L)

T e e e ; : 0 AE 05 e 06 e 0 7HE 0 8% ]
AL el FEEAN)  WERRE o TR 7 5 M| 7 5 %l M| 7 5 %I M| 7 5 %I HE
LR v A|2|S45.9. 1 RIS 1.9 X 1.6] O 1.5 | O L7 X 1.5 | O
REVBUKY 2.2 1.7 1.8 2.8 1.7
T R B|2[S45.9.1  [JLJ11kPY 2.5| O 1.6 O 1.8 | O 2.6 | O 1.7 | O
AT (2)  |C|m|s45.9.1  [H%HE 2.6] O 1.8 O 2.6 | O 2.3 1 O 1.9 | O
AT (1) |C|m|S45.9.1 [ PGHRERAE 2.7 O 3.2 O 2.4 | O 2.2 1 O 2.9 O
AR AT B|=|S48.7.31 [E#iH 12| X 9.2 x 8.3 | X 8.3 | X 5.1 | X
Il E|/|S48.7.31 [ FXE 4.6] O 4.1 O 4.1 |1 O 5110 7.0 O
B E|/S48.7.31 [&ShhiE 5.1 O 5.2 O 3.81 O 3.71 O 3.81 0O
[E )1 E|/~[S48.7.31 |[ZHFn MG 10 O 11| X 9.4 | O 9.5 | O 9.2 | O
A E|/N[S48.7.31  |E4y A F# 16| X 18| X 12 | X 15| X 12 [ X
R E|/N[S48.7.31  [RAKFH 6.2] O 5.2 O 6.6 | O 3.4 1O 1.1 | O
= HiltE 8.1 5.9 8.7 7.0 7.1
FIRR)I TR A|A|S48.3.31  [3e4E (FRJI) 2.0| x 2.0 x 2.0 | X 2.1 | X 1.6 | O
AR (HeJi) 2.8 3.0 2.1 3.2 1.9
k)| B|1[560.3.29 |fskiE 2.0 O 2.1 O 2.2 1 O 2.8 1 O 2.3 O
AL B|[/N[S50.1.21  [4 P96 3.4 X 2.8] O 3.6 | X 3.1 ] X 2.0 | O
Kl C|[~[S50.1.21 | LEE 5.3 X 4.7 O 4.3 |1 O 3.81 0 3.6 | O
KIa) D|[NS50. 1. 21 |dbAa4E 4.8] O 4.9] O 5310 4.2 1 O 1.2 | O
B )1 A|2N|S50.1.21  [FEEHE .71 O 2.4] X 1.8 | O .71 O 1.8 | O
)1 C|N]S60.3.29 | SrIkiiE .71 O 2.4] O 1.8 | O 1.8 | O 2.5 | O
FA) 1 C|[~[S50.1.21  |ME4 4G 1.4 O 1.6 O 1.1 0O 1.5 | O 1.9 | O
Fifi =) 11 B|1[560.3.29 |Ali/T4& 2.3 O 2.2| O 1.9 O 1.9 0O 2.0 O
AR ) 1] A|N[S50.1. 21 [#hiRsHE 4.3 X 4.3 X 3.3 | X 3.4 | X 3.8 | X
)l D[/ [S50.1.21  [ShhiG 4.8] O 4.8] O 3.6 | O 4.9 1 O 3.81 O
FIfgHoKEE (B [ClhS50.1. 21 TS 5.6] X 5.7 X 7.4 | X 6.5 | X 5.3 | X
)1 B|=[H8.4.30 |RPMi& 4.5| % 6.3] x 4.8 | X 6.7 | X 4.9 | X
HRAA ) B|/~|S48.7.31  [#)1/k M 3.6] X 2.8 O 2.9 O 3.1 | X 2.5 | O
KRB A|m(S48.7.31 [#&4E 3.3 X 3.3 X 4.2 | x 4.5 | X 3.4 | %
/N1 B|/~|S48.7.31  [/NER)IIKPY 3.1 X 2.7 O 3.2 | X 2.4 O 2.4 | O
HE R B[/MS48.7.31 [k KA 3.9] X 2.91 O 3.5 | X 2.8 |1 O 2.6 | O
TR A||S48.7.31  [EER) KM 5.2 X 6. 1] X 5.9 | X 5.1 | X 3.7 | X
AR A||H8.4.30  [iiAKiE 1.3] O 1.9] O .71 0O .5 | O 2.4 | X
e H )1 A|A|HS. 4.30 H A BUKS 1.6 O 1.3] O 1.7]1 O 1.7]1 0O 2.7 | X
BB C|lm(s48.7.31 | TFIBKALE 6.2| X 7.0 X 5.9 | X 6.7 | X 4.9 1 O
H TR C|/N|548.7.31  |Bi5AHE 7.5 X 6.8 x 6.8 | X 8.0 | X 5.2 | X
SRR A|2|S48.7.31  [HiHAE 2.2 x 3.4 X 2.0 O 3.0 | X 2.0 O
R B|m(S48.7.31 [ KFKIG 2.5| O 3.1 X 2.9 O 2.9 O 2.8 1 O
) A|m(548.7.31 | 5-FiE 1.6 O 1.8 O .9 O 1.6 | O 2.1 | X
A A|m([s48.7.31  [KFHG 2.4| % 2.2| % 3.0 | X 2.9 | X 2.9 | X
YEEIN A|m[548.7.31  |HEE KIG 2.6] X 2.9] x 2.6 | X 2.9 | X 2.5 | X
H=ha)ll C|l2|s48.7.31 |Eifls 2.7 O 2.6] O 2.7]1 O 3.4 O 3.0 O
[EASkEY B|m|S48.7.31 |@l¥FwiG 3.6] % 3.3] X 3.7 | X 4.0 | X 2.8 O
—E)l ki B|m(S48.7.31 [MF0iG 2.8 O 3.5 X 3.2 | X 3.1 ] X 2.9 O
— B )R B|/\[$48.7.31  |dBJI4G 6.8 x 6.1] X 5.8 | X 8.1 | X 5.2 | X
—E)I TR C|=|s48.7.31 |H246 2.1 O 2.9] O 2.6 | O 2.5 | O 3.1 [ O
FREI R A||S48.7.31 (=04 .71 O .2] O 1.5 | O 1.4 | O 1.71 O
B I TR B|=(s48.7.31  |LHE 1.8 O 2.8] O .71 O 2.7 1 O 3.3 | X
— 2 A|A[H8.4.30  |3RA 0.7l O 0.5 O 0.5 | O 0.5 | O 0.9 | O
)il Al[A|H8.4.30 |EDFEAE 0.8 O 0.5 O 0.6 | O 0.6 | O .10
R A[NH8.4.30  |BRIEEUK NI 1.9] O 1.4] O 1.5 | O 2.3 | % .31 O
s B|2|S48.7.31 )G 7.5 X 2.0l O 2.0 O 1.6 | O 1.5 | O
—JF)1 A|NH8.4.30 |[ZJFAE 1.6/ O .81 O 2.3 | X 2.1 | X 1.8 1 O
S B|m(548.7.31 [sFiE 2.3 O 2.0l O .71 O 2.3 O 1.9 1 O
W) B|=(s48.7.31  [WE)I46 1.8 O 1.5| O .31 0O 1.7]1 O 2.0 O
ERE)I AlA[H8.4.30 | EAKGEEUK D 0.5] O 0.7 O 0.5 | O 0.6 | O 0.9 O
WA B|/>|S48.7.31 [F4E 4.4| X 4.6| X 4.0 | X 4.8 | X 3.5 | X
SR A|7[S48.7.31 | Rk 2.3] X .71 O 1.9 | O 2.6 | X 1.7 O
il A|A£|H8.4.30  [MhHtE 0.9] O 0.9] O 0.6 | O 0.8 | O 0.8 | O
Z=) A||S48.7.31  |[iE4E .2 O L1 O 1.1 0O 1.1 0O 0.9 O
il C|lA]s48.7.31 Ik 2.0 O 1.6] O 1.5 | O 1.4 0O 1.5 | O
/NI R B|1[548.7.31 |HEAE .2 O L1 O 1.1 0O 1.0 O 1.3 O
AR TR C|m(s48.7.31 | A\RiE .71 O .4 O 1.6 | O .9 O .31 O
/RN i AlA[H5.3.31  [HHiE 1.6 O .2 O 1.4 | O 1.4 | O 1.6 | O
N T T 3 B|z|S48.7.31  [IMEE 1.9] O .71 O 1.8 | O 1.8 | O 1.8 | O
AR A|7[S48.7.31  |HHINE)I 4 .71 O .2 O 1.4 | O 1.4 | O 1.4 O
2 i A|A|H5.3.31  |[FrmIHE 1.4 O 2.2| X 1.4 | O .21 O 1.2 | O
&) i B|A|H5.3.31 |G 2.9 O 3.4| X 2.9 1 O 3.9 | X 2.7 1 O
2 T Cle|[H5.3.31  |HEKE 2.6] O 4.6] O 2.8 1 O 2.6 | O 2.8 O
AL C|m(S48.7.31 Bkl HAG 2.5| O 1.9] O 1.8 | O 1.9 0O 1.3 O
A E|m(548.7.31  |#it6 1.6/ O .2] O 1.7 1O 1.3 O 1.3 1 O
) E|2|S48.7.31 |[AARE 3.7 O 3.2 O 7.2 10O 5.0 O 6.9 O
Fg ok (Fit) [ClA[548.7.31 | Hife )G 3.2 O 4.0l O 2.2 1 O 2.6 | O 2.0 O
HEE) | E|[S48.7.31 [\ T14E 8.1 O 6.9] O 5.8 O 4.6 | O 5.3 1 O




(2) B (COD :mg/L)

T 1o e S 0 4L 0 5L 0 6 AT 0 7 A 0 8 AT
D - e I e 112 a0 A EC B R e S A L
FISEE Alm|s45.9.1 | BAGERUKATF 10| X 9.6| X 10| X 12| X 9.6] X
TR B|/N[S45.9.1 | FEBH R 10| X 9.3] X 9.6| X 9.7| X 9.1| X
I 4 I B A[NH5.3.31  [INJEHE TR 6.6] X 6.5 X 6.3 X 6.6] X 6.5| X
ENIERNG Y S A[NHE. 3,31 [SRKE R 5.8] x 6.7 x 6.6 x 6.7 x 6.7 x
(3) ¥k (COD :mg/L) - - - - —
FAPY y e P 0 4 F-HE 0 54 0 641 0 74 0 8
AWA |l FEEAR|  WESER o e T T S (R TS GRS B
W (9) Bl|s46.5. 25 |RAEL 3.9 x 4.1| x 4.0 x 4.2| x 3.4] %
B 3 5.3 4.3 4.0 4.9 3.8
HAUE (4) C|A[S46.5.25 [sstis 2 4.2] O 4.3 O 3.5| O 4.1 O 3.4 O
HHE (3) C|m[S46.5.25  [#iE 1 4.2] O 5.5| O 5.5| O 5.2 O 4.8 O
B (1) 5| =|546.5. 25 WRE 4 4.3| X 3.8| X 3.5| X 4.1| X 2.9| X
HAB 8 3.3 3.8 3.2 3.2 3.1
BB 5 4.7 O 4.2 O 2.7 O 4.3 O 2.6] O
TRk () C|A[545.9.1 [zt 7 5.0 4.0 2.7 3.6 3.1
HAB12 3.5 3.4 2.4 2.6 2.3
W 6 4.7| % 3.8] x 2.6] O 3.9] x 2.8] O
TRk (2) B|f[845.9.1  |smi o 4.0 3.3 2.9 3.7 2.5
BRI 3.5 3.0 2.9 3.1 2.6
W (16) Alr|sa6.5. 05 [EAHLS 3.0 x 3.4] % 2.7| % 2.5 % 2.8] %
HB14 2.7 2.5 2.1 2.2 2.2
WA 10 3.4 x 3.3 x 2.6] O 3.1 x 2.9 O
HaE (12) B|[S46.5.25 |fimiAis 2.7 2.2 2.3 2.6 2.4
B8 2.4 2.5 2.6 2.5 2.1
HAE (2) C|1[S46.5.25 [HstiE16 2.5| O 2.3 O 2.8 O 2.2 O 2.5| O
HAE (1) C|1[S46.5.25 [sstis17 2.7 O 3.1 O 3.0l O 2.5 O 3.0l O
=R (17) Al+|s46. 5. 25 Eﬁﬁgw 2.1 x 1.9| X 2.3 x 1.9| X .9 O
20 2.1 2.7 2.2 2.1 1.7




